
Assembly procedure of the RICH 
frontal panels 

G.Fuga (LNF) 

1. Procedure for the assembly of the tool for the installation 
of the RICH frontal panels 

2. Procedure for the preparation of the RICH supporting 
structure before the installation of the frontal panels 

3. Procedure for the installation of the RICH Frontal Panels 



1. Procedure for the assembly 
of the tool for the installation of 

the RICH frontal panels 



Assembly of the support - 1  

4x Profiles 30x30 

2x Corner  
    Bracket 
4x T-nut M6 
4x M6x16 
 

Supporting side (x2) 



Assembly of the support - 2 

Tighten the screw after  
positioning it at the right angle 

*** Skip the two tabs 
        with a hammer 

*** 

T-nut M6 
M6x20 

M8x25 

Multi-angle 
bracket 

Multi-angle 
Bracket 
2x  M8x25 

Plastic end cap 

Wheel mounted on  
aluminum plate 

4x  T-nut M6 
4x  M6x20 



Assembly of the support for Top Front Panel - 1 

2x Corner  
    Bracket 
4x T-nut M6 
4x M6x16 
 

2x Corner  
    Bracket 
4x T-nut M6 
4x M6x16 
 

4x Corner  
    Bracket 
8x T-nut M6 
8x M6x16 
 

4x Corner  
    Bracket 
8x T-nut M6 
8x M6x16 
 



Assembly of the support for Top Front Panel - 2 

2x Junction plate  
(up and down) 

4x T-nut M6 
4x M6x16 

Plate for eyebolt 
2x T-nut M6 
2x M6x16 
 

Plate for eyebolt 
2x T-nut M6 
2x M6x16 
 

Needs eyebold Needs eyebold 

     Needs  
Thread ¼ inch 

Plate for eyebolt 
 



Assembly of the support for Top Front Panel - 3 

2x Corner  
    Bracket 
4x T-nut M6 
4x M6x16 
 

2x Corner  
    Bracket 
4x T-nut M6 
4x M6x16 
 



Assembly of the support for Top Front Panel - 4 

Left Shelf  
for Panel 
2x 3931  
2x M6x10 

Right Shelf  
for Panel 
2x 3931  
2x M6x10 

Bottom Shelf  for Panel 
2x 3931 - 2x M6x10 



Assembly of the support for Top Front Panel - 5 



Assembly of the support for Top Front Panel - 6 

Top Shelf  for Panel 
2x 3931 - 2x M6x10 



Mounting of the Top Front Panel - 1 

1. Put on the Bottom Shelf 

2. Put on the Support 



Mounting of the Top Front Panel - 2 

(3x) 2x M8x20 



Assembly of the support for Bottom Front Panel 

Move the lateral upright 



(3x) 2x M8x20 

Mounting of the Bottom Front Panel 

1. Put on the  
      Bottom Shelf 

2. Put on the  
     Support 



2. Procedure for the preparation of the 
RICH supporting structure before the 

installation of the frontal panels 



Removing elements 

Remove these elements 



Existing cross bar positioning for the Bottom Front Panel 

Move up the existing 90x90 profile 

Insert a reinforcement corner bracket 

New position for the  
Bottom Front Panel 



Mounting insert guides for the Bottom Front Panel - 1 

1x Profile 90x90x300 
3x Corner Bracket 90x90 
24x T-nut M8 
24x M8x20 
1x Plastic end cap 90x90 

1x Profile 90x90x300 
3x Corner Bracket 90x90 
24x T-nut M8 
24x M8x20 
1x Plastic end cap 90x90 

1706 1706  928 



Mounting insert guides for the Bottom Front Panel – 2 

1x Profile 90x90x1855 
4x Corner Bracket 90x90 
32x T-nut M8 
32x M8x20 

1x Profile 90x90x1855 
4x Corner Bracket 90x90 
32x T-nut M8 
32x M8x20 

1706 1706  928 



Mounting insert guides for the Bottom Front Panel – 3 

2x  Profile 90x90x1000 
2x  Corner Bracket 90 
8x  T-nut M8 
8x  M8x20 
2x  Plastic end cap 

2x  Corner Bracket 90 
8x  T-nut M8 
8x  M8x20 

20x  profile L - 20x10x2 lenght 500 
60x  T-nut M5 
60x  M5x16 



Existing cross bar positioning for the Top Front Panel 

0 Move up the existing 90x90 profile 

New position for the  
Top Front Panel 



Mounting insert guides for the Top Front Panel - 1 

Profile 90x90x1600 

Position of the profile 90x90x1855 



Mounting insert guides for the Top Front Panel - 2 

Mount the same parts used for the  
Bottom Front Panel except for the  
two vertical 90x90x1600 profiles 



3. Procedure for the installation 
of the RICH Frontal Panels 



Inserting Bottom Front Panel - 1  

Configuration set for the Bottom Front Panel 



Inserting Bottom Front Panel - 2  

Attach it to the Gantry Crane 

Eyebolt Eyebolt 



Inserting Bottom Front Panel - 3  

Lift 

Harness 

Put the wheels between the guides 

Theoretical  
center of gravity 



Inserting Bottom Front Panel - 4  

1. Bolted the Panel (8Mx25) 

2. Unbolted 
the support 

10x  8Mx25 



Inserting Top Front Panel - 1  

Configuration set for the Top Front Panel 



Inserting Top Front Panel - 2  

Attach it to the Gantry Crane 

Eyebolt Eyebolt 



Inserting Top Front Panel - 3  

Harness 

Lift 

Put the wheels between the guides 



Inserting Top Front Panel - 4  

2. 
Unbolte
d 
the 
support 

1. Bolted the Panel 
(8Mx25) 

20x  8Mx25 


	Assembly procedure of the RICH frontal panels
	1. Procedure for the assembly�of the tool for the installation of the RICH frontal panels
	Assembly of the support - 1 
	Assembly of the support - 2
	Assembly of the support for Top Front Panel - 1
	Assembly of the support for Top Front Panel - 2
	Assembly of the support for Top Front Panel - 3
	Assembly of the support for Top Front Panel - 4
	Assembly of the support for Top Front Panel - 5
	Assembly of the support for Top Front Panel - 6
	Slide Number 11
	Slide Number 12
	Assembly of the support for Bottom Front Panel
	Slide Number 14
	2. Procedure for the preparation of the RICH supporting structure before the installation of the frontal panels
	Removing elements
	Existing cross bar positioning for the Bottom Front Panel
	Mounting insert guides for the Bottom Front Panel - 1
	Mounting insert guides for the Bottom Front Panel – 2
	Mounting insert guides for the Bottom Front Panel – 3
	Existing cross bar positioning for the Top Front Panel
	Mounting insert guides for the Top Front Panel - 1
	Mounting insert guides for the Top Front Panel - 2
	3. Procedure for the installation of the RICH Frontal Panels
	Inserting Bottom Front Panel - 1 
	Inserting Bottom Front Panel - 2 
	Inserting Bottom Front Panel - 3 
	Inserting Bottom Front Panel - 4 
	Inserting Top Front Panel - 1 
	Inserting Top Front Panel - 2 
	Inserting Top Front Panel - 3 
	Inserting Top Front Panel - 4 

